daaIRRa ff — (mefifee) - 9g 69.1410
TECHNICIAN B — (MACHINIST) - POST NO. 1410

1. 3 O & 8T 59 T T deadad T TR 87 87

Which angle is not to be changed while drill grinding?

a) er&/Top rake

b) faig FoT/Point angle

¢) fora fFead@/Lip clearance
d) gferera oT/Helix angle

2. 500 rpm# Fdd I 15 mm T & Th US Aed FHdd & 3996 &< Th TH TF
& 99 & 9@ H IR (Fe) G e g &6 afd o g afgu)

A groove is to be milled in a M.S workpiece by using a 15 mm diameter end mill
cutter rotating at 500 rpm. The cutter speed should be

a) 15 m/ min.
b) 20 m/ min.
¢) 24 m/ min.

d) 30.00 m/ min.

3. foffAca 9 fiied #1 IS goummell A, SET MU & R F Faerd g fafae yor & fhea
gred T ST §, QT YOTelr & fear Imm A L gl

In IS system of limits & fits, where the different types of fits are obtained by
varying the size of shaft, the name given to the system is

a) &g 3maa gumell/Hole basis system
b) AT eTRA Yumel/Limit basis system
c) e TR yomel/Shaft basis system

d) s ¥ FI5 sE/None of these

Unit of specific gravity is

a) gm/cc

b) gm/cm’

¢) gm/m’

d) 3w & & #1$ =Ei/None of these above
1



5.

Mo & T4 A YFFAdeT dol T STl & T T FHAT UM ...

The general ratio of soluble oil and water used as coolant is

a)10:1
b)1:10
c)1:20
d)20:1

One Joule is equal to

a) 0.1 N-m
b) 1 N-m

¢) 10 N-m
d) 100 N-m

Hook’s law holds well up to

a) Wrera g/ Yield point

b) 3terarfces EAT/Proportional limit
¢) cani¥ess HiAT/Plastic limit

d) fa=de fdg/Breaking point

Ushel UiSc aholel TR & Heldh T I1d & oI & 0T &l ............ Fed ol
The angle between the face and flank of the single point cutting tool

a) ®ied HoT/False angle

b) fFera®@ @ror/Clearance angle

¢) ferg sroT/Lip angle

d) feg =oT/Point angle



10.

11.

12.

In a plain milling cutter, the chip space between the back of one tooth and the face
of the next tooth is called

a) ®wa/Face
b) freare/fillet
¢) ter/Gash
d) ofs/land

In up milling, the thickness of chip is

a) el & ARH H ATadm dur el & 3 H Ao
minimum at the beginning of the cut and maximum at the end of cut
b) i & IRH A FVFIA dAT FdA F 3 A AeAaqaq

maximum at the beginning of the cut and minimum at the end of the cut

¢) I &l & aRIT AR uniform through out the cut

d) 3= H ¥ P15 Tel/none of these

T Hel ATHe T B, forad

A basic shaft is one whose

a) foleT famere = g/lower deviation is zero

b) 39 fa=releT =F g/upper deviation is zero

¢) et @ 3R famere == g/lower and upper deviation is zero
d) 35 # & S wEi/none of these

T ST & Hgolel & T TFF FSAT ITAR ThaT ............ gl
The heat treatment process used for softening hardened steel is
a) @gdeor/Carburizing

b) ETAAIUT/Normalizing

¢) 3feilelsi/Annealing

d) &raffer/ Tempering



13.

14.

15.

16.

S.Is®HE & FaT & AFS ......... gl

The unit of energy in S.I unit is

a)srsa/Dyne

b)aree/Watt

¢)Kg-m

d)se/Joule

Arfaf@d & @ Sla-ar 37 7/2% @ #1191 §?

Which of the following is a fraction between 3 and 7/2?

a)14/5
b)13/4
©)16/6
d)12/5

Stress means:

a) & A%e/AR/Area/ Load

b) #X X &Awel/Load X Area

c) oiare # gRadet/Her #ar$/Change in length/ Original length
d) #iR/gawe/Load/ Area

1oz =isrs, 1#ex ofag aur | mm A & AR & #g ged Me (Fefca 7.8
g/CC)FT AR ..ooveee gl

Weight of Mild Steel sheet (density 7.8 g/cc) of size 1 meter width ,1meter length
and 1 mm thickness i§--------=--—---

a) 78 kg
b) 7.8 kg
c)0.78 kg

d) 1kg



17.

18.

19.

20.

Hg ST & HleeT AN HA .......... gl

The carbon content in Mild Steel is------------- .
a) 0.2d/to 0.6 %

b) 0.15 A/to 0.3 %

¢) 0.6 d/to 0.8 %

d) 0.1 8/t0 0.2 %

T Yo A T FHT ARTS EarT ATYr ST B
The tooth thickness of the rack is measured by

a) O1faes afetar &faar/Universal Vernier Caliper
b)fT g afeer FHferw/Gear tooth Vernier Caliper
c)Felor ATSIACY/Flange micrometer

d) T ¢¥et/Gear tester

Unit of strain is:

a) N/mm”

b) KPa

¢) N/m?

d) 39#a & & &1 €1/None of the above
AT ATH..ee W 3menia §1

Hydraulic intensifier employs:

a) 3nHATSE FAgurd/Archimedes principle
b) urEhe &1 FA/Pascal's law

¢) =felr fRAgenia/Bernoulli's principle

d) =g &1 fF@@/Newton's law



21.

22.

23.

24.

37°C v, & TR ¢
37 °C is equal to:

a) 100.4° F

b)90. 4° F

¢)98.4°F

d)114° F

4em =T & Teh I BT &TBA ..o gl

Area of a semicircle of diameter 4cm is:

a)6 Zem?
7

b) 6 Z em?
7

c)6 2em’
7

d) 6= cm’
7

Density of water is:

a) 1000kg/m’
b)1kg/m’

¢) 100kg/m’
d) 10kg/m’

AT gAET & T ®eIar AT & N1F N 128 35 foar Srar g1 #@ssa & N1ds
AT o gl

For general application, roughness values are graded as N1 to N12. The N1 grade
value in microns is

a) 0.025
b) 0.05
¢) 0.1
d) 0.4



25. mm/min# Fel HF F Ieheld FI 7 srErBEIfd ¢2-0.05 mm, Fdaw 7 JU H
&a1-10, o (Rdse) a1fd-110 rpm|

Calculate the total feed mm/min. Data given : feed per tooth — 0.05 mm, number of
teeth in cutter — 10, Spindle Speed — 110 rpm.

a) 45 mm/min
b) 50mm/min

¢) 55 mm/min

d) 60 mm/min

26. TATR A¥e & & g TIR & fav Aafaf@a & 9 9 Fw &1 393 ar srar
g7

Which one of the following gears are used to transmit motionbetween parallel
shafts?

a) gfersher fR/Helical gear

b) 3 frR/Worm gear

¢) faaar fAaT/Bevel gear

d) gfersrel feder fam/Helical bevel gear

27. 236 d T g & el avq & T & deacAs AfFeafdd w1 qoied aeare
T&IATCHS TOTS &l e FEd ol

The numerical system that describes the location of an object by numerically
expressing the distance from a fixed point along 2 axes is called
a) dfger fagef/Vector Co-ordinate System

b) gdra f@gef/Polar Co-ordinate System
c) @refger fadefi/Cartesian Co-ordinate System
d) et AEe/CNC Co-ordinate System

28. g&%drE e 114 mm o o 358 mmararar & god gfoierd HIo(sh H{e) & ehelsl
ey

Calculate the helix angle(nearest to), having lead of helix 358 mm and work piece
diameter 114 mm

a) 60°
b) 30°
) 45°
d) 34045



29. 13 399 vole, fusd A & ............. DR H FAI: oMU Sd gl

30.

31.

32.

33.

The rapid index plate is generally fitted intothe = end of the spindle nose.
a) 9d/Rear

b) 3m3r/Front

¢) @ae grest/Collet holder

d) FrRR/Gear

Arfaf@d & @ Hia-adr ufshar v & 3eR @ H a1 Fadr 82
Which of the following operation can be done by the same tool
a) AfHeT g ¢9er/Reaming and tapping

b) F3eEIRIT T FTWre HfAF/Counterboring and spot facing

¢) f3feeer @ BfAa/Drilling and facing

d) 3wdea @ef/All of the above

s 3o & fow ... efoFT oT @7 IU=AET FAT STar g

For spade drill helix angle is used.

a)gsr/Large b) Ber/Small c)y=a/Zero  d) FEFA/Medium
A =grE(D) 90mm, ol sard(d) 80mm Tur SErS(L) 1cmAgFarmreshehlaiarer

ATKHragarsiet |

Find the conicityvalue K of a shaft having maximum diameter(D) 90mm, small
diameter (d) 80mm, & length (L) Icm

a)0.1
b)1.0
¢)10.0
d)11.0

----------- tool material is good for cutting non-metallic materials

a) F1esT Erat/Carbon steel
b) 3T aifa ¥ra/High speed steel

c) ¥camse/Stellite
d) 3wdera @efi/All of the above



34, . gerd & g &1 3y & #7AMT MSs AT & Teh-Fog a¥or & &
fopar S Fehar 1

Stick-slipfriction in Machine guide ways can be reduced by using strips of material
such as -----

a) difer T waR18s/Poly tetra fluoride
b) gffer g1 weivyele/Poly tetra fluoroethylene
c) earse/Turcite

d) sEa/Bronze

35. 997 399R & ABC & B &1 Adad &1 §7
What stands for B in ABC of first aid ?

a) senfsdr/Bleeding
b) shfAs1/Breathing
¢) satfear/Blocking

d) sfas1/Burning

36. 7fg f3er ¢ A, AAMeT aF @ off 37 g ARG URUT el & v Fla-F G amor
3UHIUT T 39T fHarerar g2

Which drill holding device is used to hold a drill taper shank bigger than machine
Spindle ?

a) Tella/Sleeve

b) ArRe/Sockets

¢) f3& T&/Drill chuck
d) =rere/Collets

37. wiR & Y@ AT H g & gUA AT # gRafdd w g fHE coiork weR DTI
franfafer &1 39T fmar sirar 82

What mechanism is used in plunger type DTI to convert linear motion of plunger to
Rotary motion of pointer ?

a) 3" g gA R fRarfaf/Worm &worm gear mechanism
b) Y& g Rz rarfafi/Rack & Pinion mechanism
¢) & g & fharfaft/Screw & Nut mechanism

d) &hter g oliar foharfafe/Scroll & Lever mechanism



38. T duX A & Ths Harfafer &1 A =21 g7

What is the name of feed mechanism provided in a shaper ?

a) 9 g = fRarfafe/Pawl & Ratchet mechanism
b)gaarfea frarfafe/Hydraulic mechanism

¢) & 7 Rfags frarfaf/Rack & Pinion mechanism

d)ad 3 g7 R Rarfaf/Worm & worm gear mechanism

39. BIS SYSTEM # fadst At Weaar 35 &2
How many fundamental tolerance grades are in BIS SYSTEM ?

a)l0
b)12
c)15
d)18

40. fAe=Toi@d & @ HiT-Ar 3icT-Jeo(Sacse) Ave fafer g2
Which one the following is the dovetail measuring method ?
a) AT Ve’ &1 39A19/Using Rollers only

b) AT [Faa gATT 1 3uAer/Using Slip gauge only
¢) STy ATSHIACT T 39AeT/Using outside micrometer
d) UerR T erq gAAT 1 39A91/Using rollers & slip gauges
41. el @ifarst TATeeer melie & % 3167 & FATR arel WIS 1T 1 A1 &1 82

What is the name of feed movement which is parallel to the spindle axis in a
Horizontal milling machine ?

a) 3IEd Wis/Longitudinal feed
b) s Hrz/Cross feed
¢) FtaneR $rs/Vertical feed

d) gufe ®rs/Rotary feed
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42. fAe=Taf@d & @ HiT-a1 v HiAA 9Est g?
Which one of the following is an artificial abrasive ?
a) dsA/Corundum

b yTEd/Emery

c) Rafeee FrEtss/Silicon carbide
d) é_/Diamond

43, gRa Tafoed w1e18s A1 Toh(IMSTEIT SErel) T 3R R fohd T & frar Jrar g2
Which material is ground using green silicon carbide grinding wheel ?
a) g FIa/Mild steel
b) gerar @tgr/Cast iron

¢) Yrdel/Brass
d) ¥9&fea FEs/Cemented carbide

44. 5137 Us Y MY & TATY fhdal Seoad Tolel I 3YINET fohar S1am 72

How many index plates are used along with Brown&Sharpe dividing head ?
a)l
b) 2
c)3
d)4

45. |17 Tsh(ASTSI Sgrel)Reath 51-A-46-H-5-V-8 #, H fhaehr que g7

In a grinding wheel marking 51-A-46-H-5-V-8, What is indicated by H ?
a) 3maedi/Abrasive

b) 3T 3MHR/Grain size
¢) I18/Grade
d) @T=/Structure
46. fRFAfai@d # F HiA-A1 ATH TR, FF-gifesd T g7

Which one of the following standard tapers is self- holding type?
a) A TW/Morse taper

b) ST37 U emdea’/Brown and sharpe taper
¢) S« e9x/Jarno taper

d) Afgew Tw/Metric taper
11



47. Frfai@d # 4 frd #7de JAT A, o & HdRE T & &7 7 A 761 872

Which one of the following machine reamers does not have the shank has integral
part of the reamer?

a) T yFR/Rose reamer
b) e §F/Shell reamer
¢) Ifdener JAT/Chucking reamer

d) #efer fer A/ Machine jig reamer

48. 7MeT ISR oS ganT faveT s G 1 IRV T Fraifead fmar @ g2
Which list of codes are defined and implemented by the machine tool builder
a) M &Is/codes
b) G ®Is/codes
¢) N @&rs/codes
d) T #E/codes

49. "oy yumelr A X g Z fGem & e & gane & fav R garesteAs faur @ suer
famar ST &2
Which operational mode is used for moving the turret in X and Z direction in CNC
system ?

a) Ushd sareh fau1/ Single block mode
b) 3ifer fdur/Auto mode

¢) sier faem/Jog mode

d) tfse faurEdit mode

50. Aiwerdly HMeT 7 HIA-AT IYRIT 3TUR U HGTel & TSl A H HgrIeh @il g7

Which device assist in higher metal removal rate in a CNC machine ?
a) =g feaser/Multi spindle

b) @af amETge/Servo mechanism

¢) ¢l SAfa3/Techno generator

d) ¥f@* afer p/Linear ball screw

12



51.

52.

53.

Aoy ALfeT A gaf Jargel &1 Far 39T &2

What is the use of servo mechanism in a CNC machine ?

a) Al garT @1 # gur/Correction of feed by motors

b) efrer gEehtor/Quick indexing

) Farss & A oiig aifa/Heavy load movement of slides
d) awr Ffe Fgar/Velocity error correction

3w & fov forg I3 & |uor gAY F 39T fRar Sar 82

Which grade of slip gauges is used for calibration purpose?

a)@s/Grade 00
b) ¥5/Grade 0
c)¥s/Grade 1

d) #3/Grade 2

Ferel AR T AT & FROT 3Tt A T F oot @ ., Fgd ol

The pattern of the work surface caused by the movement of cutting tool is known as
a) g1 1a+1/Surface Texture

b) weTdar/Roughness

¢) Rfrerar/Waviness

d) e/Lay

54.%F oo =g & fTRR &7 Ts T3 ¢l

Rack is a segment of gearof ....................... diameter
a) ®Ic/Small

b) §ga BIe/Very small
¢) 3=id/Infinite

d) 39d&a & & &1 €1 None of these

13



56.

57.

38.

59.

R R dve & g afeFa 9vor & AT 3uAer e aa gl

Bevel gears are used for transmitting power between.............. shafts

a) 3FATR 3wfaTsel/Non parallel nonintersecting
b) 3ATER gfa=sdl/Non parallel intersecting

¢) AR dwe/Parallel shafts

d) 3w @ef/All the above

............... HTEBTSl FoAGeh(FCALT Afsiehelel) T 3AH 3GT60T gl
The best example for splash lubrication is

a) R FAga/Ring lubricator

b) fa& $rg Fgw/Wick feed lubricator
¢) IH I1A/Grease gun

d) 99/PUMP

fyaer T = Ped G gFd, T FT ........... FIUT F T Qs MY & @r Frar
gl

While milling a bevel gear, work 1is set on the dividing head to an angle equal to

a) f=r % #Ivr/Pitch cone angle
b) &8 HuT/Face angle

¢) & @IUT/Root angle

d) vs=sA Hv1/Addendum angle

el iR & AT &ded aae e & O & Hiedd HEAT & Yl @il I FHAIoT
AT 8?7~ Ey &1 wedn, O O Aqg o
What is the equation for finding virtual number of teeth for cutter selection for bevel
gears, Z= no of teeth, @ Pitch cone angle

a) Z/COS®’
b) Z/COSQ*
¢) Z/Cosg*
d) Z/COSO

IFET TH .............. &igH gl

Graphite is a--------------- lubricant
a) ara/Solid

b) ga/Liquid
¢) 3¢ ga/Semi liquid

d) 39&a & & &1 €1/ None of these
14



60. 120 m/min 1 &del T & fov, IfE ST =@F 25 mm,50mm g 75 mm & @ T
(FRdse) & rpm........ g

For a cutting speed of 120 m/min, if the job dia. are 25 mm,50mm and 75 mm, the
rpm of the spindle will be.

2)756, 509.3, 1528
b)600, 659, 1624
¢)1528, 756, 509.3
d)800, 572, 450

61. Fefc oo aUT S8 Fory & yfdede eaRe-oR & fov fhd R & gl dca &
ST fehar ST &

What is the name of the drill element used for the edge formed by the intersection of
flute surface and body clearance ?

a) Ba/Face
b) Fele/Flank
¢) grel/Heal
d) ®s/Land

62. FIA-AT IUATCHS HH §?
Which one is a non positive cam ?

a) teic &A/Plate cam
b) 37 &#A/Drum cam

¢) e8 Tele HA/Grooved plate cam

d)s9d#a & & &I €1/ None Of these

63. gaartaeh SaReT, RUSaT @ SFoiel & AT oo, &1 geell fhed @ gord Stetel SgRar
J
Hydrodynamic bearings are journal bearings with a thin film of between the

spindle and the journal.
a) ag/Air

b) a«/0Oil

c) dfe/Balls

d) I/Grease

15



64.

65.

66.

67.

FIUROT ghAT H Ff¥Far FE gvR & Afecsr #fa &1 39aer Faramar g2

Which type of milling machine is used mostly in general workshop ?

a) dad g 1 gR/Column & knee type
b) faga @Fax weR/Fixed bed type
¢) Tl g&hR/Planer type

d) fJa9w g&R/Special type

g Tl TellceX HliaA T AR AT 38 §T ITHA Xl 5, of 30 BI5 Fdell H AH
a7 87

What is the name of feed movement if table moves towards and away from the
column of slotter?

a) % F@gael/Cross movement

b) g @uefet/Circular movement

¢) FEaeR Tdelsl/Vertical movement

d) 33¢ed "aeret/Longitudinal movement

Teh FR @ 6 8¢ # 270 km & glf a7 &I I SR FART 7T & Forar g, a FeT 450
km & gt 77 #a # AR e &g of@emn?

A car covered a distance of 270 km in 6 hours. If the car travels with a uniform
speed, how much more time required to travel a total of 450 km?

a) 4 =c/hrs.

b) 5 &c/hrs.

¢) 3uc/hrs.

d)3 a¢/hrs. 30 fAsTc/minutes

doerel 7 fger: o= A & 3f3d g

a) fAfeea/Milling
b) au=T/Drilling
¢) efda/Turning

d) I1=1/Grinding

16



68.

69.

70.

71.

72.

T TR T foig Hlor .. gl
The point angle of a scriber is

a) 30°
b) 60°
¢) 90°
d) 12° to 15°

Ush Iy fGU 310 geor # § ' X ' AT T 9dT 9|
Find the value of ' x ' from the given simultaneous equations.

8x + 7y =12, 4x +3y= 4

a)-3
b) 4
c) -4
d) -2

U Al AFHAC A, RAae 1 ve qu aRewAT ... q 3T oI &l
In a metric micrometer, a complete revolution of thimble advances

a) 0.0lmm

b) 0.25mm

c) 0.50mm

d) 1.00mm

(V5 +3) (V5 - \3)& #1et &1 war eemd|
Find the value of (\'5 + V3) (V5 - \3)

a) 9
b) 8
c)2
d) 7

Udh Tedh & HAUT & N hd AeRa far aar g2

What is determined while measuring a component
a) sHT 3meeR/Nominal size

b) aredfdss 3ehR/Actual size

¢) fafése 3mdR/Specified size

d) &l 3R/Scale size

17



73.

74.

75.

76.

T Fg A Sie # G12mm F JART e S S g1 I oler 3eR:0.2mm
JgT 9371 3HR: 0.05mm g, daf dR B &1 AR fhder grem?

A O12mm reamed hole is to be made on mild steel job. What will be the reamer drill
size, if Under size: 0.2mm & Over size: 0.05mm

a)l1.75 mm
b) 11.95 mm
c) 11.80 mm

d) 11.85 mm

F13eT T esT A (IS-3406-1986) & & [Wo= & AU #13eT deh 3ol T Hied-AT FHI0T
3R grem?

Which angle of counter sunk drill will be suitable for seating counter sunk type A
(IS-3406-1986) screws

a) dcbe fZa/Countersink drill 75°
b) b) F3EF Te/Countersink drill 80°
¢) F3dF f3e/Countersink drill 90°

d) ®3f&® f3a/Countersink drill 120°

1/8 ga o=, 3¢ @9 93 & WY, 289 AW & Sl W &I T, tan O dw & I F
gToIerg 1T HT HTholed HY |

Calculate the helix angle of the thread up to tan 6, cut on a job of 2 inch dia., with
1/8 inch pitch, 3 start square thread.

a)tan 6 = 0.0615

b) tan 6 = 0.0830

c)tan 6 = 0.0436

d) tan 6= 0.0765

8cm urRd AT 20 cm FAS & Jobdl VIS TUGH T 3T ... gl
The hexagonal prism having side is 8cm and height is 20 cm its volume is :
a) 1900 V3 cm’

b) 1270 V3 cm’

¢) 1920 V3 cm’

d) 17203 cm’

18



77.

78.

79.

80.

T X @i 7 428 qur 3 mm Al 8, SHHT T A gram?

A gear wheel has 42 teeth and 3 mm module, its pitch diameter is?

a)l4mm
b)45mm
¢)126mm
d)108mm

HdaRew g3 & fav SR AT (BIS) & T8TS gl
The depth of an Indian Standard (BIS) for internal thread is

a) 0.6495 P
b)0.6413 P
€)0.6403 P
d)0.6134 P

FISS, FETST TAT HI2 F o9l 7T frg Forrg H3mar &2

Name the class of fire on wood, paper and cloth

a) Ford/Class A
b)sFema/Class B
¢) Fard/Class C

d) sFama/Class D

arersh At A Y@ i A aRafda e &g oefaf@a & @ Qw # e Jamaeh
3qrer far sar &7

Which of the following mechanism is used in a shaper to convert the oscillatory
motion to linear motion?

a) a7 T g7 el Fardell/Worm and Worm Wheel mechanism
b) feder Aax Jarac/Bevel gear mechanism

¢) %+ T Tdles FAde/Crank and slotted mechanism

d) 9 e ofrax Tarae/Bell crank lever mechanism

sk sk sk skeosk kook
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